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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Energy in sun 1s produced due to :
a9 § ol il I Bl B

Options:



Fission of He into H

I_He%Hfrl%ﬁaﬂ@—rrﬁ

Burning of C in its core

o 5“‘-’3} "i'_"..dl. :ET - % Fer ‘_'_\ ﬁ

He is converted into Fe 1n its core

B

2 u':"_;'-ifia r}_\p_—g ﬁ He % Fe ﬁ '-Ii-:l’:lfl-l%ll—ﬂ = ﬁ

Fusion of H nuclei into He

, H ¥ % He ¥ e+ B4 U

Question Number : 2 Question Id : 5431074773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

A blue star 1s :
':'_"-_f,' =) ol il ?ﬁ?ﬂ %
Options:

as hot as the sun

..lr — ; [
R ECE I

Cooler than the sun
, T U

very cold
Z rq%fl SU=]

much hotter than sun

45’_“5ﬁ~34_~lf?‘5-17-53'ﬂ31r’
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The width of depletion region in a pn junction is of the order of :

Rl pn W= & WM &5 & ARl &l e Bl &

Options:



| 10" 4%
. 108 m
108 m

_10‘4111

Question Number : 4 Question Id : 5431074775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

In a half wave rectifier operating from 50 Hz mains frequency, the

ripple has fundamental frequency :

50 Hz AT J1el 537 I Taerd =pal J8-fa=wl § Rge 5§ Oo
o

Options:
: o0 Hz

> 23 Hz

5 100 Hz

, 5042 Hz
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Hydrogen atom spectrum has series in visible range as :

EIEGITT TIHTY] TR W g9FEs H g9 B
Options:
Lyman

Balmer

> HHY



Brackett

TN,

5 SFhE

Paschen

e
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Question Number : 6 Question Id : 5431074777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

In the reaction ,Be”+,He' — X*+ n', the value of a is :

E o N =
AfAEFAT B’ + He' 5 X+ 0! H a &I A &

Options:
i 14

Question Number : 7 Question Id : 5431074778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

Threshold wavelength for photoelectric emission of a metal is 5200 A.
Photoelectrons will be emitted when it is illuminated by :

FREl G W TERIST-dEd 3OS # aswl e 5200 A F
TeRTT-SeleFel =H1 3eaisi- BN 7= 84 WARIRTT [=RAT =TT

Options:

50 W IR lamp
, 50 W B0 #Ro ¥ &Ml

500 W microwave lamp

, 500 W HTgshieg §F9 BT

1 WUV lamp
. 1 WHodlo ™9 ZRI



1 W NIR lamp

4 1W 090 3 o e T Rl

Question Number : 8 Question Id : 5431074779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Photoelectric effect proves the nature of light as :

TERTST-IEG O TRl T S B R S 2
Options:
a particle

, T

awave

*

2,
either particle or wave

= <97 4l ¢ ;.‘l

a particle and a wave
T ST T

Question Number : 9 Question Id : 5431074780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

When a red flower is seen through a green glass it appears :
a BY ®iE W U W 9T I ol Al £ ol 98 Gl
Options:

red

. NI

e

&

green

sl
2.

vellow

i

2 T



black
EAGI

Question Number : 10 Question Id : 5431074781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A person standing in ifront of a mirror finds his image larger than
himself. The mirror is :

U=F e Ueh 2991 & W19 SIS BERT U 2 55 3U0eRT UidieE 3

o C =
"'qu = | ;-.1[:| T E3

Options:
Plane

1 HHAT

Convex
5 AR

Parabolic

= TR

Concave

4 '_ﬂfIﬁ ‘»TI
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

In Young's double slit experiment ratio of maximum and minimum
intensity 1s 9 : 1 . The waves have amplitudes in ratio :

wqﬁﬁf—mﬁmﬁ ATEERTH AR IS SEAIAT ST 9 1
| T % A /1 STIIE

Options:

o i |
1.

(]
ap

*



n
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

In vacuum speed of light depends on :

atg 9 geerer & =Fe FUT w2 o
Options:

Colour

. T 9%

Frequency

HAGE ¢

Wavelength
5 TG 09X

None of the three
4 O " F Wi e
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Cuestion
Dimension of pg, 1s :

K€y CANTEs
Options:

; LT

» TfL
2 /T2
3.L /T

4 L7
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Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

The frequeney of em wave best suited to observe a particle of size
3x10*cm is :

Ty - -

3x10*cm HATHR % UH FHI FH 384 = 00 i [Fega-—g=eh

SE&] -qufij_iﬁ 20T
Options:
; 10* Hz

15
2.10 Hz

10 13
3

12
. 10* Hz

Question Number : 15 Question Id : 5431074786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

In an LCR circuit with L=8H, C=0.5pF & R=1000). Series resonarnce
frequency in radian/sec 1s

L=8H. C=0.5uF X R=100Q &~ UK LCR TRUH H 2o A0S
IR IFSAT /%S o BERT

Options:
600

1

, 6000
5 250/ n

, 500

Question Number : 16 Question Id : 5431074787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

AC 1s converted into DC by :

AC T DC o 9giag #par Iam 2 /97 & =T

Options:




transformer

I

ﬂ.

rectifier

Question Number : 17 Question Id : 5431074788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In an AC circurit with R=4Q |, wL = 3Q, the impedance is :
R=40 37 wL=3Q TT AC 9RT¥ = 9fgamr (impedance) BRT ¢

Options:
1. 70

, 4/3Q

Question Number : 18 Question Id : 5431074789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

At a place where earth's magnetic field has zero vertical component,
the dip angle is :

33 N UX, TRl 9l & FEHE & H ey 99 o F &, A
"-—|‘..J|D| ﬁ_ T

Options:
DCI

1.

45°



Question Number : 19 Question Id : 5431074790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Hydrogen atom is paramagnetic. Hydrogen molecule is :

= =, & - = ™ i T
BIESI TRATY] TRIHIEE B | BRg o7 B
Options:

Diamagnetic

- Th
SIHIHAI==h

Paramagnetic

= e W
BEAE= s | 7

Ferromagnetic

) -
3 N ==
Ferrimagnetic

-,

4

"‘_:t;’hiﬁa

in &
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The magnetic field due to a tiny magnetic dipole of magnetic moment

M at a distance r from the centre on equitorial line is :

-

U Bl T [2ygd, T FEsHhd A0 M B, % HR0 g0 E

e

T AT 3@ 9T ¢ 33 97 FEEE AT AEan 26
Options:

H, M
I_Erl




B M
4 r

].ll:l 2M
A7 17

I, 2M
o an 1°
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A Proton and an ¢ - Particle enter in a uniform perpendicular magnetic
field with same velocity. The period of rotation of ¢ - particle will be n
times that of proton, where n is :
U OIS AR U o - H0T U THM a=ad geashid &= 5 T &390
ﬁﬂ—-mﬂ?rﬁzl o- Wﬂwmm—rﬁﬂnwﬁmﬁn
=
Options:

4

1.
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following 1s true ?

- T =N, = -
MY Hs5FH TH 8 ¢
Options:

Sound is mechanical wave

, A A= T80T 8




Sound 18 electric wave
= = - =
z At S AEh %

Sound 1s magnetic wave

-

. e+ %*dtl’:ltl SEEIE-,

Sound is electromagnetic wave

, AN FEga-gEEE a3 B

Question Number : 23 Question Id : 5431074794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

A current loop of area 0.01 m?® with current 10 A is held perpendicular

to a magnetic field 0.1 tesla. The torque on the loop 1s :

T 0.01 m? &=T%heT A 10 A 817 1 UF B, 0.1 &M &F F=hiA
&7 % T Ead @ B | B 97 F@0T B o
Options:

0

5 0.001 Nm
0.01 Nm
>,

1.1 Nm
4.

Question Number : 24 Question Id : 5431074795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Current in a bulb changes by 2%. The power change is :

U oo O 9RT 2% 9idiad 2l &1 9l o 9figd+ 8rm
Options:
o

1 . .l"’O

5 2%

4 9%



8 %

Question Number : 25 Question Id : 5431074796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Amount of charge required to deposit one gram equivalent of
substance by electrolysis is :

HAEITH AET &
Options:

, 9.6 x10* C

4
. A8 %D e
. 6500 C

, 96500 C

Question Number : 26 Question Id : 5431074797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
12 identical wires each of resistance 50 form a skeleton cube.

Resistance between two diagonally opposite corners 1s :

5Q O FeT 12 UHAEE ol 3 Us 99T = g9 T4 E
99 % a3 =GO [T s % S oy B
Options:

3P0

12

1

78



Question Number : 27 Question Id : 5431074798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The SI unit of € is:
€ i SI S B
Options:

; Nm? C2

> Am™
= NC!

" sz N—lm—E

Question Number : 28 Question Id : 5431074799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of following is related to H — atom ?
T H e BIEgleT URHE] I T B

Options:
Rydberg constant
, RE= FEai®

Wein's constant
g =adiH

Solar constant
o AT i

Gas Constant
4 T AT

Question Number : 29 Question Id : 5431074800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Ratio of SI to CGS units of kinetic energy 1s :
AT Holl @l SI AT CGS FREA! Hl A & ¢
Options:




Question Number : 30 Question Id : 5431074801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which of following is dimensional constant ?
1 o & fadm s = 7
Options:
Refractive index
L ERIET

Relative density
o HTIE e

Dielectric constant

=
=

4

Gravitational constant

, TEEE I

Question Number : 31 Question Id : 5431074802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

A body dropped from the top of a tower falls 40m during the last 2
seconds of its fall. The height of the tower is (g=10m/s?) :

TREl ¥ & =ie | U [Mvs [ 39 97 Aa9 2 9%69S § 40m
Rear & | & & 549k 2 (g=10m/s?)

Options:

60 m

1

o 45 m



80 m

S0 m

Question Number : 32 Question Id : 5431074803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A car travelling due north at 50 m/s turns west and travels with same
speed. Change in velocity 1s :

-

UF HIY 50m/s H 9 I Iy & A 99 18l 2 | 98 9999 &t
Sl = § =@l 21 3 F giigdT &

Options:

, 50 m/s N-W

50,2 m/s N-W

s 50 m/s S-W

50,2 m/s S -W

Question Number : 33 Question Id : 5431074804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

If two vectors A and B are such that ‘A+]§"= A-B angle between A
and B is :
gt o7 9%=¥ A ¥ B U 2 [ A+E‘=‘A—E, i 58 a9
T HOT B
Options:
0
1. 0
- 60°
o
5 a0



Question Number : 34 Question Id : 5431074805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A 7 kg mass is subjected to two forces (in N ) as E=1D1?+3G:i and

F, = 8i —9:i. The magnitude of acceleration (m/s) is ;

7 kg ST 9T & =9 (NH ) F=20i+30] AT F,=8i-9] o1l & | =79
FH 9HET (m/s?H ) B
Options:
1 S
Z 4
3
=
2
4,
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Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

A lift is moving with acceleration a . The apparent weight of a body
becomes zero when lift moves :

0 TTFE a 99T 9 = .r\_gj"' :‘-—“'j'| TeRa d¥] T ATHATAT 917 I gl*l[
gfe o = B o
Options:

down witha =g

1.'_‘F|:-FF a=g Y
upwitha=g

, UL a=g 2|
down with a = 2g

=z Fh% a=2g ﬁ

up with a = 2g

4 U a=2gﬁ
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In non — relativistic regime, increase 1n the KE by 300% the momentum
of a body increases by :
R [avs i s S0 300% =@+ UYL 3IHHT 9499 Fodl =
Options:

20%

1.

P
5 2%

5 100%

i G!__."
i 200%
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Ratio of rotational to total kinetic energy of a rolling sphere is :

—

IS 2 Ay B B2 B et e Rl P o T 2 R 7 e R e

Options:

1.?:1!:1I
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A can filled with water 1s revolved in a vertical circle of radius 4 m. For
water not to fall, period of revolution is nearly :

U G 2= § 91 99T 4 m B &% ST g § gHIET Sl
21U 9 FYE & 0 g9 1 SAEdERT B

Options:

1 1 sec



> B sec

= 10 sec

4 4 sec
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Time period of a second's pendulum in satellite 18 :

Hehws Wik ohl 3942 H ATgdehlel a1 2
Options:

1_05
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Two satellites revolve 1n orbits of radi in ratio 1 : 4 Ratio of their time
periods is .

-

Sl IUUE 1: 4 HAINT TR AT D HAT § GiEH Hd 2 | 396
Options:
14
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



If two satellites of different masses revolve in the same orbit they have
the same :

Aafg &I 3UE e =99 3 B, U Bl FEl o 9Eger id 2,
I I TT9T FEET BRI 7

Options:
Velocity

i AT

Energy

-

Angular momentum

5 THIOE HT

Time period

T

4 ATFTRI
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

A spherical liquid drop 1s divided into 27 droplets of equal size. If
drop has radius R and liquid has surface tension T, work done in this
process is :
R =1 &l U I 89 &l g8 &I 27 UF 99 Biel gal 0 J5a
T B | A 89 B U 9™ T B, af §9 UERAT ¥ 9 & B
Options:

SnR’T
1.

5 4RT

127R°T
=,

0
4,
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question



The upper end of a wire of diameter 8 mm and length 1 m i1s clamped
and its other end is twisted through an angle 30° The angle of shear
is

= = =,

8 mm A AT 1m =12 & a1 &l 5950 T e 541 1397 2 &7
— = = 0 - : = 3 = =
gHY Y &F 30 & &HIOT H Uz AT 71 5 | AUEIH BT &

Options:

30
;. 12

0
5 1.2

0.12°
bR

0
4 0.012
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Cesticon Label ;- Multiple Choice Question

A gas performs minimum work when it expands :

O I A9 FF FH & 99 T8 el B

Options:
adiabatically

. HEEC &9

1sothermally

\Ilixl 1 \-'_j]

isobarically

5 T g OY

isochorically

o aTrgae 9%
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Cuestion Label - Multiple Choice Cuestion

First law of thermodynamics represents conservation of :
FENCE & 929 99 3o 99 #5r e 2
Options:




Momentum

4_ﬂ%‘|1TB'E
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Juestion Label - Multiple CThoice Cuestion

A simple harmonic motion has an amplitude A and time period T.
Time required to travel from x = A tox= A/2 18 :
U OIS SAEC T H STEH A I Ed wWA T Rl x=A 9
x=A/2 TF =@ H w90 HHT B
Options:

T/6

1

5 T/4

5 Tf3

z B2
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Cuestion Label @ Multiple Choice Question

; , : . T
The equation of motion of an object 1s x = 2.0 cos(0.50t + E] meters.
Its maximum acceleration is :

L

i

fopdT @ @l T @ AHEI9T x = 2.0 cos(0.50t + —) HIET 2 | THH

Al =Y B
Options:



0.05 m/s?

5 0.50 m/s?

2.0 m/s?
3.

i 2.25 m/s?
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uestion Label - Multiple Choice Cuestion

Sound Waves do not show :
e T A= S9N =
Options:

Interference

1'5’ g = ¥R

Deftfraction

o [ 1.r

Polarisation

BER
cor o

Refraction
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Cuestion Label : Multiple Choice Question

A standing wave having 3 nodes and 2 antinodes i1s formed between

two atoms having a distance 1.21 A between them. The Wavelength

of stmding wave 1s :

1.21 A g7 Wﬁ?ﬁﬁWﬂTﬂ]ﬁTqmsrwurﬁ HAT 2 yPT= arsl
TEFTFJT THT =T B AT G # e vt B

Options:

1.21 A

1.

> 2.42 A



5 6.05 A

4 363 A
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Cuestion Label - Multiple Choice Question

A gas has yv= 1.4. It is a : (where v = Cp/Cv)
Wh T W y=1481 T8 § : (Al ¥ =Cp/Cv)

Options:
Monoatomic

Uk 9LHIY

1.

Diatomic

Triatomic

—
- -

-1/

=3 e

Tetraatomic

ciq;-iww;qa
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Juestion Label - Multiple CThoice Cuestion



Amongst the following, wrong expression is :

M= o g &=5F B

Options:
b

Boyle's temperature, z=—

[

b
r“e]:;ﬂ ﬂTq! TB:E

a

27b°

Critical Pressure, P =

e a
Hitclep a4, Ik:zq:ﬂﬁ
> sok

8a
27Rb

Critical temperature, T =

; 8a
:F['iﬁz[:.- = a7, i o=
5 ’ € 27Rb

Critical volume V¢ =3b

ZHifcIeh ATET, V_= 3b
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The temperature at which liquid water will be in equilibrium with

water vapour 1S :

(Given AH = 40.73kJmol™” and AS,_, = 0.109kJmol™ K)

579 a9 97 &9 59 Ud e 919 9rEEeEr § e8R), 98 2

- =,

(lG9m = : AH,, =40.73kJmol? TAT AS_ = 0.109kJmol? K1 )

vap

Options:
i 273.6K

5 298.6K



5 373.6K

o 473.6K
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Cuestion Label - Multiple Choice Cuestion

Which one of the following is incorrect ?

R = M= Mo o B2 V) <
Options:

- r in
, Kp=KcP

AG® =-RTInK,

2.
45 = 9
= T
) "_E h
C,=| =P
4. ¢T )
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Cuestion Label - Multiple Choice Cuestion

On electrolysing a solution of dilute H,SO, between inert electrodes,

the gases evolved at the anode and cathode will be respectively :

= >

a9 H,SO, w9 & Miepy soazisl & H= Jga Suded o UAIS

T H&s 97 o B grell a9 HHeT BRI

Options:
O, and H,
. 02 HIE H2
H, and 0,
[-12 ChIEy Dz



SDE and D;-,

, SO, &0,
SO, and H,
SO, # H,

4.
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

If the uncertainty in position and momentum are equal., then

uncertainty in velocity is :

O = 9= a7 o SISieEadr 99 2L ar 99 o SAieETar 261
Options:
1 [

P 2Zm T

1f

= mym

h

I8

Question Number : 56 Question Id : 5431074827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Cuestion Label - Multiple Choice Question

If the electronegativity difference between atoms A and B 1s 1.5, the
percentage ionic character of the A-B bond is approximately :

TSI A T B T 92T O H AT 1.5 7, Al A-B = &
9T AEE O TRTHT BET

Options:
8

ki



24
32

40
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Cesticon Label ;- Multiple Choice Question

"Zero point energy’ in terms of principle quantum number is :

=,

o favg 1, TP dEa=d W & Uel o =

ek

Options:

i 2
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Cuestion Label - Multiple Choice Question

Metallic sodium in liquid ammonia acts as :

=g AHIGIT H giigeh Allsdd &Hid &l & ¢
Options:
Metallic conductor

| oiicaeh S99 & =9 |

Electronic conductor

AT

o, SEFEIF HHEE & w9 F

Ionic conductor

-

- AHEE HETEh & =9 H




Mixed conductor

4 ™Y HEeeh & =9 H
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The energy of second Bohr orbit of the hydrogen atom 15 -328 kJ mol .
The energy of fourth orbit would be :
SIS UTHIY & q¢ alst Affde & Foll —328 kJ mol | 2 | AT

Options:

| ~1312 kJ mol

, 656 kJ mol

_ 82 kJ mol

i 41 kJ 111{:11_1
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Standard entropies of formation of X, Y, and XY, are 60, 40 and 50 JkK

3 1 3
mol 1~ respectively. For the reaction j}:z —7Y_ = XY; (AH =-30kJ ) to be

at equilibrium, the temperature should be :

-,

X, Y, AT XY, & 2 & W0 HFEE TSy HHeE 60, 40 AN

o A casm s ee. T B ou ,
50Jk mol & | URIEFAT & f X, +=Y,=XY, (AH=-30kJ) HIe™

0¥ @99 BET ="9ie0

Options:
; 500 K

, 750 K



5 1000 K

4 1250 K
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

KCl crystallizes in the same type of lattice as does NaCl. Given that

1:_‘.,3_

.
= 0.55 and £ =074, Calculate the ratio of the side of the unit
a l‘u_

cell for KCI to that of NaCl.

KCL 3T 9T &l FAwi o Er=sigd 2ml & 591 NaCl & = | &3

e . ooce g S .
- =0.55 3T _ =074 NaCl &1 &%. . 3E. (KCI) & forg

Cr Cl™

g Hel & Y& & HAUR HI AT B

Wy

=
C
I].l

Options:
1 1.1226

, 0.0891

; 1.414

4 0414
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The emf of the cell Zn|Zn* (0.1 M)|| Fe® (0.01 M)|Fe is 0.2905 V.

Equilibrium constant for the cell reaction is :

A9 & SUHUT (emf) Zn|Zn® (0.1 M)|| Fe* (0.01 M)|Fe 0.2905 HI
(V) a9ge RaT & =1 O Ofdtea & e §

Options:

lﬂﬁ.SEfﬁ.DSS‘I
1.

1 DD.E.’E,."D.EIE?S
z.



0.26/0.0235
z 10

ED.SE f0.0591
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

The degree of hydrolysis of a salt of weak acid and weak base 1s given
by the expression :

=t

FHAN TS (379) 31T &HFAN 1% & A9% & Seshaedd &I S0
ATt 9T & E B

Options:
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Cuestion Label - Multiple Choice Cuestion

The relative penetrating power of o.f.y and neutron (n) follows the
order :

o.p.y AT FEA (n) FH AT THF oIfad 39 TR B
Options:
 1>B>a>n

4 Bra>y>n



5 o :>|3 >Y >N

n>=y>p>a
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

A solution which is 103 M each in Mn?, Fe®*, Zn®" and Hg? is treated
with 107* M sulphide ion. If K_ of MnS, FeS, ZnS and HgS are 107,

1072, 107%% and 107°%, respectively which one will precipiate first ?

U [GRT@T S Mn?, Fe?, zp?* #¥ Hg? T UHF 10°M &, 1076M

TFFIES AE & T2 IUGRT 63T ST 2 | MnS, FeS, ZnS 31T HgS

% K_ A 107°, 107, 102 T 105 2| HBF-AT 9=e =N 7
Options:

1 ZnS

o FeS

3 HgS

MnS
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Juestion Label - Multiple CThoice Cuestion

The pH of 0.005 M calcium acetate is (pK_ of acetic acid = 4.74)
0.005 M =" UHHET # ph = (T TS 1 pK_=4.74)

Options:

; 6.00

5 8.22

5 9.00

4 10.22
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In reaction CaO + 510, —» CaSi10,;which of the following statements
1s correct ?

HATAFAT Ca0 + Si0, — CaSio, ¥ HHA-AT Fa9 €A & 7
Options:

Ca0O i1s Lux Flood base and SiCiz 15 Lux-Flood acid

CaO TFI-TIE #¥ & HT Si0, TFI-TFIS T

CaO i1z Lux-Flood acid and SiD2 is Lux-Flood base
CaO TFI-TAS 7 = AT Si0, WHI-TaS &

Ca0Q and SiDE both are Lux-Flood bases
CaO T SiO, Il WHI-TIS & &

CaQ and ii-ii{]'2 both are Lux-Flood acids

-,

CaO T Si0, Ml TFI-TRTE A+ 2 |
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Cuestion Label - Multiple Choice Cuestion

Crystal field stabilization energy for [Ni1(H,O)]Cl,
[Ni(H,0)]CL, I Fhi=e Wivs =laeng e ETl—-l’r

Options:
12 Dq

1.

, 10 Dgq

8 D
= 3

i 6 Dg
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Cuestion Label - Multiple Choice Question

Diborance has :
gEET 5 8
Options:



4 covalent bonds and two banana bonds

| 4 TE TR G 2 S A

5 covalent bonds and 1 banana bond

E_SE_F_EEF‘FI 9T 1 =97 =51

3 covalent bonds and 3 banana bonds
SSET?EEF‘F-TGHTSEFFFTTEF‘FI

2 covalent bonds and 4 banana bonds

4 2 Hed-s gEl 4 S-A9191 499
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Juestion Label - Multiple Choice Cuestion

Mond process 1s used for retining ot :

o= [afa 9 s 9isRer &ar A r 2 7
Options:

; N1

" it

= Fe

4 Cu
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one of the following has V-Shape ?

=1 o 9§ ool eTgia v &l avs & 7
Options:
; XeF,
5 H,O
CO



N,O
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Juestion Label - Multiple CThoice Cuestion

What is electronic configuration of Yb®* ?
fFrevfaas @1 soaci=as O =r & 7
Options:

| 41 s

5 4f™ 6s°
3 4f 14 5d! 6s!

4 4£13 5d! 657
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Cuesticon Label : Multiple Choice Question

Which of the following does not show optical isomerism ?

M= O o i iehe AEamTg 98 oEmr 2 7
Options:
CD[EHE_

[E'o (en), Cl, T

2.

. crClr
[ce(ox),cL, ]

s = i
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Juestion Label : Multiple Choice Question



The spectrochemical series of the common Ligands

F. SCN (S—bonded).H,O , NH, 1s :

F~, SCN™ (S - &UE), H O , NH, TIFZaehe 97 1 HET d50s 7

Options:
. SCN™(S—bonded)<F < H,O < NH,

F <H,0<NH, <SCN (S—bonded)
. H,0 <NH, <SCN (S—bonded)<F~

” NH, < SCN™(S—bonded)<F <H,O
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Juestion Label - Multiple Choice Cuestion

Which one of the following is radio-active ?

=7 o i eg-ufdeg & 7
Options:
Protium

Y

o

1. =

Deuterium

Tritium

g
=
|_,<-!_"iE:|E|

=

Deuterium Oxide
i .
, SASIT SRS
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Maximum bond angle at nitrogen 1s present in which of the following ?

T

Frefefa o O fFad sAfasmay =v1 Hior Jgare 9¥ 96E B

Options:

1, 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Cobalt (III) chloride forms several octahedral complexes with ammonia.
Which of the following will not give test of chloride ions with silver
nitrate at 25°C ?

FIwE () FAES FAHMAT & 912 FF FACHAHE HEell B a7
Tl 2 | 99 O I i 25°C 97 [ea ARG e & q1 g s AraHl
EANRSEA A I £ T |

Options:

| CoCl,.4NH,

, CoCl,.5NH,

_ CoCl,.6NH,

CoCL,.3NH,
4 B
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the following statements 1s correct when SO, is passed
through acidified K,

KCr,0, & A=A [9e&T 5 SO, Udied &3 & =99 7§ =1 ¥
HIH-ET HIT el 5 ¢

Options:

Cr,O. solution ?

4

The zolution turns blue
Tora= | 797 O 959
, ST B

The solution is decolourized

5 o= =M B8 F7ar 2




S0, 1s reduced
. SO, & FATAAT BT 3

Green Cr,(SO,), 1z formed

. B Cr,(SO,), & =T =il 2
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Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

In which of the following options , the order of arrangement does not
agree with the vanation of property indicated against it ?

Fr=feriad 5 3 -4 [JseT T g @ FH 39S [dEs SR 9T
fo=cr 9 #=aa |98l 2 7
Options:

Al¥ <« Mg™ <« Na” < F (increasing ionic size)

AP «<Mg* <Na*<F ( &A= 919 & =9¢d 80 9 H )

1

B< C < O = N (Increasing first ionization enthalpy)

, B<C<O<N (92H SAEHIHIT {EF70T U=l & =ed 9 o)

I < Br < Cl = F (increasing electron gain enthalpy)

, 1<Br<CI<F (ZoFFg™ @Y Ul & F@ed BH H)

Li = Na = K < Rb (increasing metallic radius)

4 Li< Na <K < Rb(uTfgeh =r=a1 & =ed =9 )
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following Oxides is amphoteric ?
T afferaest o & 3uggdl B 7

Options:
co,
1 @

5 Sﬂ{:}l'2

= CaO
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the following statements is incorrect ?
M= el o H B A9 B
Options:

NaHCO, on heating gives Na,CO..
, NaHCO, %I %9 H¥H U¥ Na,CO, U<l Bl |

Pure sodium metal dissolves in liquid ammonia to give blue
solution.

s AfeZy &g & &9 FHIE J 9o 9T G & 1 S

NaOH reacts with 510, to give sodium silicate.
. NaOH & si0, ¥ FFaT &Y u¥ @ifeay fafede Fwar = |

AlCl, reacts with excess of NaOH to give Al|OH),.
, ATEH NaOH =1 3uierfd & Alcl, BFaT T Al(OH), =T 2 |
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The Lassaigne's extract is boiled with conc. HNO, while testing for
the halogens. By doing so it :
SRS =Ry o6l @571 & JYI&9T & @99 9= HNO, & {1 I
Sl & | UEl @hid o
Options:

increases the concentration of NO,” ions
| NO,” et &t Hr=T =g =

decomposes Na, S and NaCN, if formed
, A Na,S 7 NaCN #9el %, @ a5 faafed =1 =war =

helps in the precipitation of AgCl
. T8 AgCl & HFETY H HE% Hcl 5



increases the solubility product of AgCl

, AgCl =T TSIl IS =G 7
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Indicate the non-lanthanoid among the following elements :
FE=feTiad dodl 5 H IT-EAEs & SR &Y
Options:

Gd

1.

5 Tb

Ce

Th

Question Number : 84 Question Id : 5431074855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Cuestion Label : Multiple Choice Question

The pH of agqueous solution of the borax is expected to be :

AVET & SIS e B U9 OF (pH) B & 3HE 2

Options:
=7
5 EF
3 ST

Can't be predicted
o, AT FE WHT T HAE
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Cesticon Label ;- Multiple Choice Question



The oxidation no. of cobalt in K[Co(CO) ] is :
K[Co(CO),] H Al &I HATFIHTOT HiAT

Options:
5l

g

1.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Benzaldehyde 1s converted into benzyl alcohol by :

S RlEs Tl d-Aled AvhiEd § EU-9T 2T & |

Options:
Aldol reaction

1 Ul '3|EH'—|§|-":| al]

Perkin reaction

> TEEA ATHERAT &0

Canmizzaro reaction

5 Tl eIfEfEAT &

Kolbe reaction

4 e ATHERT T
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which one of the following decolourises alkaline KMnO, ?

M= o ¥ [ A KMnO, & 39 3% Sl & ¢
Options:

CH
1.

a
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Methyl Ketones are characterized by :

afee #rer 2Ifasd 2
Options:
Tollen's reagent

| T ATHERHE B

Iodoform test

> FAFASTEH T &I

Schaff test

= 19TF 23= altl

Bromine test

N —%
gHH << il

Question Number : 89 Question Id : 5431074860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Clemmensen reduction of aldehydes and Ketons produces :

Ofeselss 2T [hed &l g 7999 o =947 &
Options:
Alkanes

Alkenes

i
[-.','T":F.JF ]

24



Primary alcohol

, T Heh Ueehiad

Tertiary alcohol

4 JOIHEE TR
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Cuesticon Label : Multiple Choice Question

The given reaction is an example of :

Anhvdrous MC].B

»C H.CH, + HCl

=,

=T T ATHERAT 3819 B

Options:
Wurtz reaction

, T AT

Kolbe reaction

o ThiTe AT

Wurtz-Fittig reaction

. IEo-ThiesT arsarn

Friedel Craft's reaction

, TPSW e iR
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Juestion Label - Multiple CThoice Cuestion

Reaction of phenol with formaldehyde 1s known as :

[FATeT =FT wIHwssEs & A AR =7 36T 2
Options:
Kolbe reaction

| Thimel SATTERET |



Lederer- Manasse reaction
Ty TR TR N [y | N
oK g;_;__q;[ E:I x?a:lf-d:llaJa TI

Gattermann reaction

Fries reaction

4 TS ATEERET |
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Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Guestion
Glucose and tructose are :
WS T B B
Options:

Tautomers

| T

Chain isomers
-
p = HHIEIS

Functional isomers

= TheRT-Tel 9HEH%

Geometrical i1somers
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No Control Enable: Yes
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Cesticon Label ;- Multiple Choice Question

Which of the following ion i1s aromatic ?

FTJ:‘[ _qt L8] ":f-fi;f—m HATH A -[i i.-'{:lf "?:_“— ?
Options:



1.
Z.
e
(D
OCH,
4.
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Cuesticon Label : Multiple Choice Question

In propyne there are :
gaes o 7 ¢
Options:
eight ¢ bonds
| TS & =V

siXx ¢ bonds and one 1 bond
5 B g 9IS ¥ Uk g dUS

seven ¢ bonds and one m bond
=
z HId ¢ dIVs JHIL U g Vs

s1x g bonds and two m bonds
_ o %
Ly W g 49Vs ".-l:“;\ al n s
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Juestion Label - Multiple Choice Cuestion

Which of the following compounds exhibit geometrical isomerism ?

MTehaT o o i-91 JMEeE Ay aiE J9e9ar Usieid el = 7
Options:
1-Pentene

1. 1- U<




2- Pentene

> 2 — U=

2- Methyl - 2- Pentene
z 2 - MmeEe - 2-U=iA

2- Methyl- 2- Butene
r e 1 _ =¥
52 HET 2 - =dH
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Cuesticon Label : Multiple Choice Question

1- Bromobutane reacts with alcoholic KOH to mainly give :

1 — AH=E I =9 9 34 % [0 UsehiEiesh KOH & 1l Wikl
el 5 1

Options:

1- Butene

1- Butanol

Tl Ll

2- Butanol
4 2~ TSR
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Isopropyl alcohol reacts with acidic sodium dichromate to give :
ARHAINIS Urhigel A=IE Aed9 SEHhHe & @1 Iaierar i
s B

Options:
Acetaldehvde
1. =% i - ':"u"? oS

Acetic acid

5 E.ij:lr IF| ._.':[.r [-.],I EI S



propionic acid

= TIEHE TS

Acetone

4, THIZ
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Cuestion Label @ Multiple Choice Question

Which of the following compounds will give an iodoform test ?

MeeaT O o -9 A9 SIS T899 ¢
Options:

Benzoic acid

| ASiig Uies

Ethanol
5 TR

Benzyl chloride

s )
Sl FAIES

Methanol
4, AT
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Juestion Label : Multiple Choice Question

Which one of the following compounds form Zwitterions ?
THfead B o #E-07 A& Zwitterions I FHOT FHeal 5 7
Options:

Carbonyl compounds

W i
L E UGN IRE?

Amino acids

2. H T ﬁl Q[H‘J

Phenols
LRI



Heterocyclic compounds

4 B JITER
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Cuestion Label - Multiple Choice Cuestion

Aromatic hydrocarbons are also called :

T

U (FFEET) BEgiREa A ®al S 2

i

Options:
Arenes
; FATTATE =Rl

Huckel's compounds

ZeFhel & S HEIEEA

2.
Trienes
_ gt @

Alkoxy compounds

, TR AT i
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CQuestion Label : Multiple Choice Question



The main food reserve in fungal cells 1s :

e I BIIERNAT 2l ] e s &

Options:
Starch

=

Sucrose

, TG

Glucose

3 NEZR

Glycogen
IEET Rk
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which part of moss capsule 1s haploid

Y

HieT @ T B HEA-AT AN SO BT 2
Options:
Calyptra

TS

Operculum

TR
RN} _‘.:Plr':::-

Annulus

e N

Columella

i EANEHI

Question Number : 103 Question Id : 5431074874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Juestion Label : Multiple Choice Question



Who of the following is related to phycology :

=

MeTET o I S 9T aEe o1 dEied 2o
Options:
Birbal Sahm

| AR HATEA

R. Mishra

, 3o fH=r

K. C. Mehta
5 Fo Ho H=dT

M. O. P. Iyengar
, THo HATo Tlo I
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Cuestion Label : Multiple Choice Question

Cycas and Adiantum resemble each other in having :

fFE 49T % ST U @Fe U OfEcieg U gHY O O @ £ 7

Options:
Seeds

-

1, ST
Motile sperms
o TN TIHH
Cambium

3 SHT

Vessels

i, W 1

7 AN
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Question Label : Multiple Choice Question
Cristae are found in which cell organelle ?

fhe it 2 § Bt O oy 27
Options:
Nucleus

Mitochondna

, FTEEIIg I
Chloroplast

Endoplasmic Reticulum

ZeS 0% ey
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uestion Label - Multiple Choice Cuestion

A chlorophyll molecule contains :
U JUERT A9 o B E
Options:

Iron
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ouestion Label : Multiple Choice Question

How many citric acid cycles are required for each glucose molecule ?

O IGEIST A & [0 fEBael |Eidd =9 &6 SAgIERdr Bl 8 7

Options:
Two
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Coconut milk Contains :

qiad & mes (F9) § 2 2 o

Options:
Auxins

v [

Cytokinin

R IPEIEARIE

Gibberellin

e s e W

3 PTEIRTH

Ethylene
oHlg ‘-Tr| %
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ouestion Label : Multiple Choice Question

Pappus 12 modification of :

T TeREET Euaer 2T 2 7

Options:
Bracts
1 dEYHT <h

Bractedes

o

Corolla

Swg?raﬂ

Calyx
i =lT&l a‘i‘“_q_-l” E7l
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Cuestion Label : Multiple Choice Question
Potato, tomato, brinjal, mustard and onion belong to how many

families :

AW, =THEL, T, A3A 0d A o ge o d@etEg 2 7

Options:
Two
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ouestion Label : Multiple Choice Question

At which stage of mitosis, chromatids move towords the poles ?

T AT & oh e 5 s gdi i % Faed serdl

Options:
Prophase

1. HIHT

Metaphase
i L

Anaphase
= EES | ?J'-’

Telopphase

- =y =

4. =TS
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Cuestion Label : Multiple Choice Question

Caruncle 15 found in seeds of ;
RS = o chif~=hel 98T AT & 7
Options:

Litchi

p. ST

Ricinus

, TS (RTE=4)

Citirus

3 I (HZH)

Tomato

4 FHTET
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Cuestion Label : Multiple Choice Question
Companion cells are closely associated with :

HF3S FHNART =H62 ¥9 H Il BRI 5 ¢

Options:
Guard cells

| TR ERI9EREAT

Medullary rays

5 HEolll T<hi o

Vessel elements

5 g ZoH= o

Sieve elements

4 _'E'l-l“__-[ aﬁlﬁ;;_ ﬁ-
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Juestion Label - Multiple Choice Cuestion
How many temale tlowers are found in a cyathium ?

uF TEEET ¥ e fHhad Oer 997 B B 7

Options:
One
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Cuestion Label - Multiple Choice Question

Myrosin glands are found in :

i gt o A 2



Options:
Mustard

, gt |

Onion

I o

Cactus

-

5 ARTEAT H

Cotton

EARIEE ﬁ
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Cuestion Label : Multiple Choice Question

Heterospory and ligulate leaves are the features of :
ZedrEdl ud forele ol o Gfese qaer § 7

Options:
Lycopedium

| CTEFIETH

Selaginella

LY [ ™,

il ¢

Marsilea
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The stele in Lycopodium stem 1s :

SEFGEIT & a9 o By TF Bdl B
Options:



Siphonostele

! AR

Polystele
o ITRITEET

Meristele

=

3, HUEIR

Protostele

4. e id

Question Number : 118 Question Id : 5431074889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
Colchicine 1= used tor :

-

I IR Bl 2

Options:
Fermentation

1. Ehvsa |

Polyploid production

o, FEITE 3CET o

Pesticide Production

- ZHIEAT9TR 3oae o

Hermone Production

4 BTEHE 3qe |

Question Number : 119 Question Id : 5431074890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

First CO, acceptor in C, plants is :
c,TEt ¥ co, # 9EH TE F

Options:
Oxalo-acetic acid

| TS — UHieE T



Phosphoglyceric acid

-

eF 375

5 TPl R EIIEE

Phosphoenol pyruvate

= 1 ?\]}.,«[E_ 16 ':l F,_-'.a o

Ribulose 1, 5 diphoshate
4 TEGEST 1, 5 SEHERT
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Cuesticon Label : Multiple Choice Question

Codon is present on :
FSH 9E ST B

Options:
t RNA

, t RNA OY

r RNA
, r RNA T%

DNA
z DNA U7

m RNA
4 m RNA 7%
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Cuestion Label : Multiple Choice Question
Enzymes which take part in glycolysis are found in ?

=,

TEHI T o 9N o9 g0 U=T==T 99" A7 2

Options:
Vacuole

. e
Tekdehl H

Mitochandria

5 HIESIRIgaT §



Cytoplasm
5 THI9TRT &9 |

Endoplasmic reticulum

, UUSTEHE degay o
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Couesticon Label ;- Multiple Choice Question

Which of the following is known as C, cycle ?
Frfatea o § 9 C, =6 & AF o S A’ B¢

Options:
Glycolate cycle

| TeMEhieTe =eF

T C A cycle
., BTo Hlo To =h

Kreb's cycle

3, b T =zh

Calvin cycle
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Juestion Label - Multiple Choice Cuestion

Synthesis of DNA takes place in which stage ?
SUAT 1 Heeol e siEeRn | B 2 7

Options:
G- 1 Phase

; G- 1 3730

G-2 Phase
5 G-2 IFED

S- phase

3. S— '*-3: a \-‘l-l—



G-1 and S- phase
4 G-1 Ud S- I
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Cuestion Label - Multiple Choice Question

Which pyramid is always upright ?

= -

FF-TT TS Hd=m H{iEr BT 2 7

Options:
Pyramid of Number

o, =
AR

L H=AT @™

Pyramid of Biomass

> FFAT s

Pyramid of Energy

3. HAT H iHS

Pyramid of Energy and Number
4 kj’J3|r| T!E[ AT T i'j:\:lj]:" S
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Cuestion Label - Multiple Choice Cuestion

How much energy i1s transterred trom one trophic level to another ?

OF e d@ o g7 o fRadr S sEEsara Bl s 7

Options:
| 5%

10%
=

5 153%

i
i 20%
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Axolot] is the larva ot :

-

R o G G | £ | S

Options:
Ambystoma

. OO=ER=MGT 26l

Round worm

o ITTGTEHTHT 6l
Amphioxus

Silk moth
4 THTH I A
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ouestion Label : Multiple Choice Question

Which of the following is the feature of Mammalia ?
WAl & e F -l G 77
Options:

Presence of paired pharyngeal gill slits in adults

A%l § AT a9 [ & 39t

Cranium and vertebral column is cartilaginous

-

, A HIT FHEAEFH WA FlaiTTd &

Presence of mid digital hair

3. A& TSToTed =ell &l 3ufeid
Presence of mammary glands

4 T GEET W 3T

Question Number : 128 Question Id : 5431074899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Juestion Label : Multiple Choice Question

Ostrich belongs to the class :

Y 1 e B o

e Tin B



Options:
Mammalia

| T A

Aves

o @
Reptilia

T H

>, -

Archaeopteryxia

, & TR AT e RETET
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Juestion Label - Multiple CThoice Cuestion

The concept of binomial nomenclature was given by :

fEae ATHEH9T &1 TG99 o1
Options:

Lamarck

Darwin

[

Sl il

2

Linneaus

2 NiREEEE=154

Watson

4 A= &lxl
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Cuesticon Label : Multiple Choice Question



Which one of the following ecological pyramids can never be inverted ?

efeag g 9 f-91 giieias Oaias &l 3=21 21 37 Tl

I.F
+

AT

Options:
Pyramid of size

=  ir, —
HihL Kl UHIHS

Pyramid of energy

o Al HT [TIHs

Pyramid of biomass

AT FT 7 Hs

Pyramid of number

, T s
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Cuestion Label - Multiple Choice Cuestion

The first vertebrates to appear on the planet earth were :

IQH{?;E']T T8 U7 A 9T 98o FHeEE o
Options:
Ostracoderms

B i

1. \-:'r:l F;,_:;\,] IE}'F_Q ﬁl

Osteichthyes

o ST

Placoderms
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Juestion Label - Multiple Choice Cuestion



Evolution of sex has been necessary for :

&R P9 &1 OEFT § 999 (99-91=T) 1 2FT 37999F 8, & o7 .

Options:
Continuation of species

1 s rlE "'-—:l[ El%[ E"["ﬂ'j |

Generation of variety of characters

2. — r-\r E':Tl' f-. r‘-_ f ?:l' L ?:

Constancy of traits generation after generation

, 93l 3T TIET &0 H #HEadn

Keeping the population in limit

4 TEAEEAT I MG W1
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Couesticon Label ;- Multiple Choice Question

Which one of the following served as the best natural vector to produce

transgenic plants ?

ST a1El & 3oaed & g e ¥ 9 fF-Tr 99y ST
UTepicieh daed B ¢
Options:

E coli

1 g i

Pseudomonas species

, CISIHTE =

Bacillus thuringiensis
o ST g9

Agrobacterium tumefaciens

. THEFERTH 2gH1eEd
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Migration of cancerous cells from the place of their origin to another

place of the body is termed as :

Y 1 HABIAT BN 398 Jo =N F 9T § Bl 317 #&1 17
& ST T HRT AT B

Options:
Metastasis

— - f
- e \- :

Diapedesis

=,
'-%[E j-.E,_,. Fli:l

Necrosis

Apoptosis

4.
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Which law of Mendel is revealed by dihyvbrid cross ?

Oeel & 9 99 @ SEREES i ST Yhe har =i & 7

Options:
Law of dominance

, T B

Law of segregation

, AT N BT

Law of independent

assortment

., T AR w A



Law of heterosis

o BEE
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A nucleosome 18 made up of :

IfRTATAT =47 Bl &

Options:
Histones (H1, two molecules each of H2A, H2B, H3, H4 ) and

200 bp of DNA
, B¥= (H1,H2A, H2B, H3, H4 & SI-31 #H{Y]) AT 200 bp ST
Histones (H1. two molecules each of H2A, H2B, H3, H4) and 146

bp of DNA
, % (H1,H2A, H2B, H3, H4 & &-& #AY) A 146 bp ST

Histones (two molecules each of H2A, H2B. H3. H4) and 146 bp

of DNA
., B30 (H2A, H2B, H3, H4 & &1-31 &#Y]) AY 146 bp SUAY

Histones (H2A, H2B, H3, H4) and linker DNA

, B4 (H24A, H2B, H3, H4 ) 2 Sy oA
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The poison fangs of a venomous snake are modified :

aue 919 & [aus—d & dentad e ST B o
Options:
Canines

1, FdIHed



Mandibular teeth
5 = rﬁ_,;'x qu ?_ E]:_—[
Maxillary teeth

-

5 HieRTeTdl &I

Incisors

4 BT 1A
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Which of the following is called as '‘Portuguese man of war' ?

—

Frfatag & & 58 IeRisT 839 o 9T’ ®aT SRm & 7

Options:
Aurelia

Obelia

= =, e
% [ )

2

Physalia

O

A s
Mo I

o

Hydra
4 ’?in?f:'
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In Yeast.the end product of glycolysis in anaerobic condition is :
(dr=) =9 |, uAriEs Fia o wngshieeid w ATy 3eE E o
Options:

Pyruvate

. TTEEde




Lactate

, e

Ethanol
=3 g?}‘ i':fl

Citrate

4, HIRES
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Hexokinase which catalyzes reaction between glucose and ATP forming
glucose -6- phosphate 1s an example of :
AR A IqHsT 2T Tl & &9 T@hT - 6 Bhe & o]
TicizhaT 3L hidl & & 3aEE B

Options:
oxidoreductase

| ARSI IS TF

transierase

£ AR RE

lyase

3, TGS

ligase

4. "1‘”55 =
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Which one of the following is not an essential fatty acid ?
frfaad & & H-91 UF SIg99F Bl e 980 5 7
Options:

Linoleic acid

1 [eT=IeTs uids

Stearic acid

2. \'—'- J: r..{":lf "-\.E[lg



Linolenic acid

Arachidonic acid
4 OTIEREIE OIS
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Reverse trancriptase is also called as :
'_| 'lﬂ?.-ri _-H--H'”"jxq:'j E':'iT chel ATl :ﬁ-—

Options:
DNA dependent RNA polymerase

, SIUAT 9T HAWUAT IRIHS 6

DNA dependent DNA polyvmerase
, BT T EMAT LS @

RNA dependent RNA polymerase
\_j' [ = |1 ﬁ—[a:{l-_'r "-J-'“ w-.I:-I, o JET—’“ I % 3' Eﬁ\r

RNA dependent DNA polymerase
, AT fefY oAy i
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Cleavage divisions occurring during embryonic development differs

from usual mitosis by ;

qu1 & g/ & S BN ani G ame "Eenad dJ e
BICT &

Options:
not increasing size of the embryo

, HOT @ SR SRl FE

not increasing the number of nuclei 1in the embryo

, IO H = A G § g el e



allowing only nuclear division and not cytoplasmic division

. o Fech [FETAT T BT ST TSl as a9 6l

not increasing the size of embryo and not increasing the number

of nucle:

et

T 1 ATRIT UF hrach &l o921 o dia &1 F81 2

4
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Major form of CO, transported in blood 1s :
CO, % UE AN &l T H o FE A B

Options:
carbaminohaemoglobin

[ .

| FEEATEARSATEA

carbaminoprotein

|'Jl‘-' _.-

£

solution of CO, in plasma

, AT § CO, B Il

bicarbonate

4
48 5":])“’:"; I
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Due to increased level of 2, 3-bis phosphoglycerate in RBC, the affinity
of oxygen with haemoglobin is :

AWEET F 2, 3 99 WEpRadie & 9¢ 80 WY & FHE0 ZHEFI=A

T T ST H STEr

Options:

decreased

| H BT



increased

o &I

abolished

5 U B

unaffected

—

4 HHHIId
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During conduction of nerve impulse, the action potential is developed
by :

ATEeRT ST & =19 & Qe eeiEd o § O BT BB
Options:

+ +
Inward movement of Na and ocutward movement of K

, Na' &1 SAGEF TGm A7 K H Gw=d TG

+ +
Inward movement of K and outward movement of Na

’ K & &diveh UdrE 31T Na & 9Es uge

+ +
Inward movement of Na and K

. Na 3T K & Afdia Jam

Outward movement of Na and K

; Na 2T K & =&l 9dre
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The neurons in brain are myelhated by :
afRass # T Afadgd B 2
Options:

Schwann cells

. 99T HISERT 2T



Astrocytes

s HARZIHIE T &l
Oligodendrocytes

[

5 HAMCFISZEAETH T

Microglia

4 HTEBRIET Z
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The circadian rhythm in our body is regulated by :

=AM 99T O Oaiesaa wi" HaEa & =k 2o
Options:
Melatonin

1: ﬁ'i‘ AL E1RA

TSH

> SITHTH

ADH

s USTH B
Prostaglandin

f The
4. R I"-:.r" == .
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The main photosensitive component in the photopigments is :

.-:I _.;'f —\.:._ ﬁ' {‘E’j-'_ '_: o %

Options:
opsin

, AT



all-trans retinal

L) & N i
o HIT—g I oAl

11-cis retinol

5 11 -TT I

11 -cis retinal

4. 1 l _\.'jrj i'j .rl;—- |Q-I
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The treatment of snake-bite by antivenom 1s an example of :

UEEET BT 99 & Hied & 3UEY U 3aEY9 2

Options:
artificially acquired passive immunity

T =9 O FiepT 9faver 2ias & &5

naturally acquired passive immunity

TGS &9 o FiEET UfoeeT sMe & =l

innate immunity

, ST OTq75T =H1 BT

adaptive response

-33‘_‘!CFT|‘_‘| e &79T
4 <



